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NS2

Implementation of New Protocol in NS2

( 521000)
NS2
) . NS2
) ; NS2
NS mydroptail
Droptail
NS2
NS2

[11

’ Droptail, NS2

Droptail
NS2(Network Simulator Version2)
P NS2i2 \ Droptail
LNBL 1989 mydroptail, NS2
2 NS2
NS2
NS C++
OTCL
' OTCL Bl NS2
NS2
NS2 C++ OTCL
C++
NS2 NS2 OTCL
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4 NS2 C++
OTCL
OTCL C++
C++ OTCL TclCL
1
OTCL
C+ ce .
= /F/q:‘ji?ia =T
1
3 NS2
C++
OTCL “l
Droptail
mydroptail
31
NS packet.h
hdr_ip hdr_cmn,
hdr cmn NS
hdr_ip TCP/IP IP
Droptail
hdr_ip hdr_cmn NS
NsObject
Tcl_Channel
TracedDouble
Tracedint

Tcl_Channel tchan_; //

Tracedint curq_; //

3.2 C++ OTCL
C++
OTCL TclClass
OTCL C++
create C++
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static class mydroptailClass:public TclClass{
public:

mydroptailClass( ):TclClass(“Queue/mydrop
tail”) { }

TclObject *create(int,const char*const*){

return(new mydroptail);}
}class_my_droptail,;

NS
class_my_droptail
mydroptail, Queue/mydroptail
OTCL
OTCL

new Queue/mydroptail NS2

class_my_droptail create
mydroptail
3.3
mydroptail
Tcl_Channel
trace
command
int mydroptail::command(int argc,const
charconst*argv){
Tcl&tel=Tcli:instance( );
if(argc= =3){
if(strcmp(argv[1],”attach”)= =0){
int mode;

const char*id=argv[2];
tchan_=Tcl_GetChannel(tcl.interp( ),(ch
ar*)id,&mde);
if (tchan_= =0}
tcl.resultf(*“mydroptail:trace:can’t
attach %s for writin”,id);
return(TCL_ERROR);}
return(TCL_OK);}

trace

void mydroptail::trace(TracedVar*V)
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{ char wrk[500],*p;
//
if (((p=strstr(v->name(),”curq”))= =NULL)){
fprintf(stderr,”mydroptail:unknown trace
var %s\n”,v->name());

return;}
//
if(tchan_){
int n;
double t=Scheduler::instance( ).clock( );//
if (strstr(v-name( ),”curg”!'=NULL{
sprintf(wrk,”Q%g%d”,t,int(*((TracedInt*)v))
)i}
n=strlen(wrk);
wrk[n]="\n’;
wrk[n+1]=0;
(void)Tcl_Write(tchan_,wrk,n+1);//
}
return;}
mydroptail.cc mydroptail.h NS
makefile mydroptail.o
OBJ CC make NS
o s L
L '_ _tcf_-:'\gi. 56Kbps, 10ms > :J/:r_ Sink _-:
[ J [ ]
° )
R .1 R R2 .I
W S ST
2
4
NS
Droptail 2
R1 R2
56k bps, 10ms,
droptail,R1 R2 10 ftp
10 ftp 0O 1
mydroptail

Droptail OTCL
$ns duplex-link $R1 $R2 56k 10ms mydroptail
$ns queue-limit $R1 $R2 50

# R1 R2 mydroptail
set q_ [[$ns link $R1 $R2] queue
# mydroptail.tr ,

set tchan_ [open mydroptail.tr w]
$ g_ trace curg_ \
$ g_ attach tchan |

mydroptail.tr gnuplot
3
3
5
NS2
NS
NS
NS2
NS
,2003,18:176-180.
, .NS
,2004.
L 1 . NS
,2002,3:54-57.
, , .NS
,2003.
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